
CURIOUS TRICKS WITH NUMBERS
By Frederic B. Emery
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Housewives Save Much Money
THROUGH LARKINFACTORY-TO-F4MILYDEALING.

YOU receive through Larkin Factory-to-Fami!y dealing $20.00 retail value for $10.00
because it saves tor you the profits and losses of middlemen

-
your money goes twice as

far. We can help furnish your home without cost or cut sorae of your living-expenses in half.
You can have ahandsome Sewing-Desk like the one illustrated here, with $10.00 worth

of Larkin Products. There are over 1200 other '^arkin Premiums to choose from, of ex-
cellent design and workmanship. Or ifno Premium is desired, we willsend you $20.00
worth of Products for $I<UX).

Larkin Products (over 200 to select from) consist of Soaps, Toilet Preparations, Pure
Food Specialties, etc.

—all justlynoted for their purity and hig;hquality. Their regular use
willsave you Slu.oo every few weeks.

KC.il. Hunting willki.'l(tani«»t1«« yd». Given
for "rlliimSO iiacknued I"KKK«»KATEI» CODKT
M.ASTKKat lOc. NEW LON<t NEEDED. KASY-
BKI.I.IN<i. Alll»oct..r» prai»«- It. .s-nd at nitrefor
SO to «• -il Kxtra fi—tit. HOOK on HUNTING.
A.L..I'liilbrickCo., L>ept "-I.11.-lr.iw-Mas*.'

'
All contributions to the Mi;i:ine Section »h. uIJ

be addressed to

THE EDITOR

THE ASSOCIATED SUNDAY MAGAZINES

32 E»»t 19th Street. New York City

Manuscripts mutt be tCtompAMud by »cjinji« it

their return is desired.
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remainders. Multiply the' first remainder
\u25a0 by 40. the second by 45, and the thir<i by
; 36 Add the ... products, and divide..... by 00, and the remainder will• .... .... ...... . of. Thus, start

\u25a0with 43. Dividing by 3, I, and 5 will
give remainders of 1, 3, and 3 Multiplying
these by 4.0. 45 and 36 respectively, wffl give
40, 135. and 108. The sum of ... three
numbers is 2^3. which will give a...of
45 .the originalnumber. when itisdivided by 00.

About 16121 2 the following problem ap-
peared : Let some one called A select any
number of counters. Let another person. B,
take p times as many where you choose the
value' of p. Then let A give q counters to B
\u25a0where you choose the value ofa. Then B gives
Af times the number A has left B willthen
have q (/> plus 1!counters left. Thus, ...
pose you assivm the value of 2 to q. and 3 to p.
Suppose A selects 5 counters. B takes 15. A
gives 82, making 17 for Band 3 for A. B then
gives A p or 3 times 3 or q. which leaves him S.
Then q (p plus 1) is equal to 2 (3 plus 1). or 2
times 4. which is S. the number that B still has
in his possession

Solving by Reversal

A CURIOUS result is seen inthe following
-TV Take ..... dibits: reverse them, and... difference between the two values. Re-
verse this difference, anil add the reversed dif-
ference to the first difference, and the result
willalways be I.oSq. Thus, take 087 ; reverse,

and we get 7So. The difference is 108: the
reversed difference is Sqi The sum of ISO and
891 is i.oSq.

Take any two numbers, one odd and the
(•her even." Let A select either number, and
B the other. You can tell which number A
selects by this method. Ask A to multiply his
number "by 2. and B to multiply his by 3.
Tell them to add t'.ie two products and tell the
sum Ifthe sum is odd, Achose the even num-
ber: but if it :s even, then A chose the odd
nurn!>er.

A more modern problem is the following:
Choose any three digits. Reverse the order
of the digits and get the dinerence. If the
first or last digit of the difference is known,

you can always tell the ... difference, smce
the difference" w:ll always have for its middle
figure 9 Then if...... of the dirteren.. e
isknown, the third is always 9minus the rirst
in trie same way the first is always <jrn:nus the
third Ifeither the nr<t or last figure is 0. the

d::lerence is 99 _Thus, take 756. Reverse and
get 0". The dinerence is go. Ifwetake £53

reverse, we get ;=;8. and the difierence is

4.,; Since the sum of the first and last digits
•"\u25a0 the dirference is q. the other one can be told
when either 2s known.

PIAVARD ROTH of Philadelphia, comment-
•Cl ing on one of Mr Emery's earlier articles
< n

"
Tricks with Numbers." writes

"'Your mathematical correspondents cer-
tainly know a good deal about the cur:< --.tits

of arithmetic: but do they know of anything
more singular than the followingcombination .'

\u25a0"1.17-. 47c. ;**.235.294
"Multiplied by 2. this gives: 2.352 941,176,-

470.588. which is exactly the same ligures over
again in almost exactly the same order. 8 being

taken from the middle, and set m the unit.

"Multiplied by 3. it gives: 3,52^.411.7^4.-
c- 682 winch, as far as figures go. is exactly

the same as before, 2 being made the unit

"Multiplied by 4. it gives: 4-70?, -^ .;?--

041.170. figures still the same, and in the same
order, only 6 ismade the unit. .

"Multiplication by any Arabic digit wiil

give similar results. This Ihave never seen'- fore, and came on itby accident
"
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